1. Process is in control if :
(1) Assignable causes is presence
(2) The mean is shifted
(3) One point is out of control
(4) Operating with chance causes of variation only
ufsear FE=er & B afy -
(1) AT HROT IURATT 2
(2) d1ed TR B T4 8
(3) ush feig =T | aEx &
(4) TH=TaT & STaEX |HS & AT g

2. Technique of S.Q.C. work in form of :
(1) Product control
(2) Process and product control
(3) Process control

(4) Using control chart only

S.Q.C. &l qpip FrAfRad fhd @9 & %M &l & 7
(1) S9rE =T

(2) ufEpar AR I AT

(3) Afspar =T

(4) Baw FEFCT TAE B IUART

3. In control chart limit used :

(1) Specification (2) Tolerance limit

(3) 3 - control limit (4) None of the above
FrEser =e | gged 9

(1) fafersear (2) weAsfiear &
(3) 3-F=roT = 4) STUH H q HIE Tl
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4. The concept of control chart is given by :

(1) W. B. Dodge (2) W. Shewhart
(3) W. A. Shewhart (4) H. D. Dodge
=T = #l HaERen fREe ST A 6 g 7

(1) s=go o Bl (2) 3=go Aae
(3) =0 Uo e (4) THo o B

5. If both the demand and supply increases the equilibrium quantity :
(1) Decreases and the price rises
(2) Increases and the effect on price in indeterminate
(3) Decreases and the effect on price in indeterminate
(4) Increases and the price falls
SR AT R AR S § gha Bl 8 aF dgad /e § FREe -
(1) & X FHHT F¢ Sl &
(2) gfe x == @ § FHa X a9
(3) I AR AMRET Hd J HHT I T
(4) g el & R #Ma Fe Sl &

6. A surplus occurs when the price is :

(1) Equal to the equilibrium price (2) Greater than the equilibrium price
(3) Less than the equilibrium price (4) None of the above

s AT 9 BT & S HIEA ... 2l B

(1) arE 9o & dXE (2) THI HET F AR

(3) Tg T T A 4) IU0h H A FHE T

7. Suppose people buy more of good 1 when the price of good 2 falls. These goods are :
(1) Substitutes (2) Inferior (3) Normal (4) Complements
9 A S99 a)] (AEE) 2 @ wEg fRa B, an agg (Ame) 1 eIfEes
giEd 21 3 9M T € -
(1) gfcremg= (2) =1 (3) THE (4) 999
94117/(A)



8. The law of demand states that demand curves :
(1) Shift leftward whenever the price rises
(2) Shift rightward whenever the price rises
(3) Slope down
(4) Slope up
AT 1 HA FedT & 6 T :
(1) ST & $HT Fedl 8, a9 918 e faFe e 8
(2) ST 1 HHAT ol & df &8 AR R SRl ©

(3) == Fehell B
(4) T FHA &
9. Normally a demand curve will have the shape :
(1) Horizontal (2) Vertical
(3) Downward sloping (4) Upward sloping
SAFAIR 9X TH ANT a9F 1 SAHR ST
(1) &ferst (2) SeAtER
(3) AIET Tl (4) S FH A TEr

10. Price of a product falls by 10% and its demand rises by 30%. The elasticity of demand :

UF IR H HEAT H 10% H FH B & N IFH 7T T 30% T g e
2| °6T HI & 8RN

(1) 10% 2) 30% 3) 3 @) 173

11. If elasticity of demand is very low then its shows that the commodity is :
(1) A necessity (2) A luxury
(3) Has little importance in total budget (4) Both (1) & (3)
gfe |07 @ A= 9gd e 8, O 98 S9iar © 5 aw]
(1) & AELTHAT & (2) TS B
(3) A oI H Ao Al © %) (1) Td (3) &

94117/(A) P.T.O.



12. When Gross elasticity of demand is a large the number one can conclude that :

(1) The good is normal (2) The good is inferior
(3) The good is substitute (4) The good is a complement
STE AT H Ghd A geq Bkl & A Gl Uk MRy el & 6
(1) asg (91) amr= & (2) axg (v@) gfear &
(3) a&g (W) T 2 4) a&g () 93 B
13. Price and demand are only correlated in case of :
(1) Necessities (2) Comforts (3) Giffen goods (4) Luxuries
HHIT R AN Fda 77 A9 § GeEsEied ©
(1) sTEeFepa  (2) ARH Q) e 7@ (4) famw

14. Pareto's Law of Income Distribution is given by :

(1) Vill Pareto's (2) William Pareto

(3) Vilfredo Pareto (4) None of the above

R H AW FIAROT HA 1 3R Rar . B

(1) o R (2) [t &

3) faaher R @) ST § | FE T2
15. Income distribution curves of concentration is also known as :

(1) Equal distribution (2) Frequency distribution

(3) Lorenz curve (4) Frequency curve

FHAIHT HT A e a6 7 &9 FH off S A @

(1) 9= faaeer (2) SRERAT s

(3) SRS @h (4) SRERAT 936

16. Who has given the Engel's Law ?

(1) Ernst Engel (2) A. Engel (3) Engel (4) E.R. Engel
G H e Rar @ ?
() T i (2) Qo Ui (3) i (4) g0 3TRo WA

94117/(A)



17. Demand for goods having several uses, is what ?

(1) Elastic (2) Equilibrium (3) Inelastic (4) All of the above

Iga-dl FFEIRT a&gali & J6T FM & 7

(1) g (2) I (3) STITET (4) IUNERT Tt
18. The price elasticity of demand curve can range between :

(I) —Tand 1 (2) 0and o (3) Oand 1 (4) —aand o

AN @ & AT @ & di e 8 gl © ¢

() —137% 1 (2) 03X o (3) 031X 1 @) —a3fR a
19. In C-chart for derivation of ¢ control limits are based on :

(1) Bernoulli distribution (2) Polson distribution

(3) Normal distribution (4) Exponential distribution

o-FFrE=oT dEreTl gl & e C-=md e ux SHreid ©

(1) ST foreeeT (2) dterEs faazer

(3) 9= §ed (4) =rdissl faaxeT
20. As income rises, the share of income spent on food :

(1) Rises (2) Remains constant

(3) Falls (4) Remains constant at 15%

S-S A dedl, A5 9T ©E BN dwil A T ewdr o

(1) sgar 8 (2) R &l B

(3) =edr & (4) 15% R ReX & 8

21. Pareto's Law of Income Distribution is given by :

(1) Vil Pareto's (2) William Pareto

(3) Vilfredo Pareto (4) None of the above

R H AT faaxer — Faw e g e @ ©

(1) foret Qe (2) s R

3) faehsr R (4) ST § | P AL

94117/(A) P.T.O.
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22. A function which denotes the measure of satisfaction or utility get from consumption
per unit time is known as :

(1) Engel Law (2) Demand Law
(3) Supply Function (4) Utility Function

TH Had S Egfte I SYAINEAT & SU™ H T 8, U ge §9T & @ud
g U A H R B F ST SEr 87

(1) gster o ) fewve
(3) Yfd Her (4) IUATET Bl
23. If the price elasticity of any commodity is n, = 1 it means ?
(1) Demand is constant (2) Demand is unit elasticity
(3) Demand is elastic (4) None of these
gie fopdl @& l HIEA A n, =1 8l, Al B A -
(1) °f1 Rex (2) HFT 3R o B
(3) AT A=ER & (4) 579 | Hig T
24. The point where supply and demand are balanced :
(1) Product (2) Demand (3) Supply (4) Equilibrium
(1) Sr= (2) feaos (9rT)  (3) emgfed (4) qrTEEer
25. Factors that cause the supply or demand to change are called :
(1) Equilibrium (2) Shifter (3) Demand (4) Supply
59 el & @HROT SR a1 |67 aRkafia et 8, S &l Sl ¢
(1) |r=reren (2) ez (3) | (4) oTgfer

26. The amount of goods or services available is called :

(1) Supply (2) Demand (3) Producer (4) Consumer
SUe &GS a1 qaredl & GRHCT (SHIS<) FH FHET AT o -
(1) omgfer (2) |1 (3) frEfar (4) SUHR

94117/(A)



27. Acceptance sampling plans also refer as :

(1) Process control (2) Product control

(3) Quality control (4) None of the above
gt Afc=a Ao e | aiea @ o

(1) sfspar forE=roT (2) S =T

(3) eI FEE©T (4) STH H q FE AL

28. Sampling inspection plans LTPD means :
(1) Lot proportion defective (2) Lot tolerance defective

(3) Lot tolerance proportion defective  (4) Lot tolerance percent defective

gferera Frderor Gisme LTPD a1 a7ef 2

(1) 9 ergame drogef (2) FgT AT arget
(3) dgd |AewEr AT arvyget (4) dgd Fiewdr i Suyel
29. Which technique was used majority in 1930 to 1940 for incoming or receiving
inspection plan ?
(1) SPC (2) Histogram (3) C-chart (4) Acceptance sampling

A ATl (ST a1 O &t & [ MeTeT AIsr @ 93 (1930 & 1940)
ds H R doeeiieh o1 STRIRIST Al &1 foRar /=m ?

(1) THoUlo"HIo  (2) BEmm™ (3) C-=mre (4) Epia gic=r=a=

30. Acceptance sampling can be used as :

(1) Incoming inspection activity
(2) Outgoing inspection activity
(3) Both incoming and outgoing inspection activity
(4) Neither of them
WHIA T & ST F=IgER Rar S dehar @
(1) AT FETeTeT hatehalq
(2) FET Frerr frarehara
(3) ST g e 91 FraeTor hamesarg
4) I | FE Tl

94117/(A) P.T.O.



31. Which of these is not used in sampling ?

(1) 0% Inspection (2) Acceptance Sampling
(3) 100% Inspection (4) 5% Inspection

T § R ST ufd=ed § 787 fear S © 7

(1) 0% t=rderen (2) wiepicl wfc=ra=

(3) 100% Triteror 4) 5% e

32. When is the 100% inspection done in sampling ?
(1) The component is extremely critical (2) The component is normal

(3) Component is moderately critical ~ (4) None of these

i # 100% 8197 e fohar Sar 8 7

(1) =2k TET ATS[h &l (2) gek AHERT &1
(3) ek Al g B 4) 7§ FiE T
33. What type of causes can be controlled in SQC ?
(1) Assignable causes (2) Chance causes
(3) Pattern causes (4) All of the above
SQCH frd WehR & RNl @l [ frar o gear 8 ?
(1) Fraa e (2) HHAEAT BT
(3) T I (4) ST |

34. Which of these is not used for a lot quality inspection purposes ?

(1) EWMA control chart (2) CUSUM chart

(3) Shewart control chart (4) Acceptance sampling plan

TH O FREer SUART Sgd Atk JEn F FREer & e 787 A S @ 7
(1) g == ud U =T 9 (2) FHgA =e

(3) @ FIHAT AE (4) Epia gfc==a= Arstn

94117/(A)



35. A good lot can be rejected through the use of acceptance sampling.

(1) True (2) False

(3) Neither of them (4) Can not say

i afc=a & TANT & | @9 3G AT ST Hehdl © |
(1) 9= (2) ITEH

(3) &4 # | HE TEA (4) e TEl qhd

36. Double sampling plan is given by :

(1) R. Dodge (2) H. C. Romig

(3) Dodge and Romig (4) None of these
SR IS IR S S I S C- AR E B | B

(1) 3TRo B+ (2) o Hio AT
(3) SfoT uwd AT (4) 371 | Hig Tl

37. In general equation of UCL of a control chart for X chart, which of these is used as the

estimator of W ?

Fror = & UCL & 9 el &, X = & fou =1 @ fd p &
uRedey & ©9 § yArT fRar S g

(1) X 2)
3) x 4)

=

38. Process capability generally uses in ........... .
(1) Specifications (2) Control limits

(3) Process standard deviation (4) Mean of any one sample

(1) fafEs= # (2) =T 9| H°

(3) ufshar AME o= § (4) fpel us ufdgest & wrex #®
94117/(A) P.T. O.
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39. What type of chart will be used to plot the number of defective in the output of any

process ?
(1) X bar chart (2) R—chart
(3) C-chart (4) p-chart

fFg 9 &% =C @ I9ANT Rl 1wk & e J feyel demr sifed
w1 & fog fepar s ¢

(1) X «% = (2) R—=e
(3) C-=rré (4) p-=mé
40. In C-chart and p-chart what type of data is used ?
(1) Quantitative (2) Attribute
(3) Continuous (4) None of these
C-ae 3} p-are # fpe 9hIX &1 STer IuANT 61 Sem & 7
(1) A=THH (2) farsreer
(3) Fax (4) 379 | =g T
41. Presence of trends in control chart depicts the :
(1) Process is control (2) Presence of assignable causes
(3) Presence of chance causes (4) None
fr=or = | ugiaal @ SuRefa @ i @ e o
(1) "fsean Fser & 2 (2) M9 HRET IR
(3) EHEHAT HRO I IR (4) g &
42. Which of these is not necessary to find the process capability ?
(1) Mean (2) Standard Deviation
(3) Spread (4) Design of Experiments
TTH q HA-AT FGRAT & B AT 3 & [0 AETF: 78T © 7
(1) #1em (2) 9 fermeT
(3) A= (4) TN 1 waEn

94117/(A)



43.

44,

45.

46.

94117/(A)

Control chart for variables is :

(1) X and R chart (2) C—chart
(3) np chart (4) None
=R & e FEEer = e @ o

(1) X 31X R = (2) C-=ie
(3) np = (4) g

Technique of SQC work in form of :

(1) Process control (2) Product control

(3) Both Process and Product control ~ (4) None of these

SQC =™ & Thieh fhd =9 (wH) & 8l g ?

(1) 9rE9 Fgra (afepar =) (2) disaFe g (I =0T
(3) "tk SR Jare FE=T & ®Y H(4) 58 | HiE el

Control limits are used in :

(1) Inspection plan (2) Control chart (3) Tolerance (4) All of the above
=T |1 1 IART R ST B

(1) Freror o 8§ (2) =T = |

(3) Qfewrar (4) SUh Al

Moving the UCL and LCL line for from the centre line means ........... .
(1) Decrease the possibility of type I error

(2) Increase the possibility of type II error

(3) Increase the possibility of type I error

(4) Decrease the possibility of type II error

UCL &fiX LCL @39 &I SRl SoM T deX dzd 9, %l Jadd & -
(1) I 9 i & faug § dHear wH1

(2) II 9= i & faug § dHear gis

(3) I ¥R & & [aug d FHadn gis

(4) II 9pR & & fao" o FHear Al

11
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47. Decreasing sample size will be ...................
(1) Decrease the slope of OC curve (2) Increase the slope of OC curve
(3) Makes OC curve have zero slope (4) None of the above
g&Aar g3 AT 91857 ..ol |
(1) OC T & A FH BT (2) OC T & A FSTEIM
(3) OC @k ST SAN I (4) IUUH H | HIS TEl

48. If an assignable cause is expected in the process, then subgroup taken subsequently
should have a maximum difference.

(I) True (2) False
(3) Both True and False (4) Neither of them
gfe ufkar § uw ER wrer smfed g, a1 9. d SuEHe & SAfuemaH 3R
ST =R |
(1) &= (2) TEH
(3) I SR STa Al (4) TH q =g &l
49. A single measurable quality characteristic such as dimension, weight is called .........
(1) Variable (2) Attribute
(3) Mean and variability (4) Both variable and Attribute

T Wehdl A &1 &l IOEdl Hl f[&ORIwar S 6 A=W, a9 &l Hel Sl o

(1) =% (2) fesreran

(3) 7T X o= (4) I X faQuar a=t
50. X chartisa ...

(1) Attribute control chart (2) Variable control chart

(3) Fall in both type (4) Neither of the above

X @ B Th .. |

(1) ofi=ge gl =me (2) AIRTIT FHEr AT

3) aFt v H frmEe (4) U | HIE A qEA

94117/(A)



1. If elasticity of demand is very low then its shows that the commodity is :
(1) A necessity (2) A luxury
(3) Has little importance in total budget (4) Both (1) & (3)
gfe |FT & A= 9gd e 8, 1 98 9iar @ k]
(1) & AELTHAT & (2) @ B
(3) H/A I H Hew™ IS4l B 4) (1) wd (3) &t

2. When Gross elasticity of demand is a large the number one can conclude that :

(1) The good is normal (2) The good is inferior
(3) The good is substitute (4) The good is a complement
STE JRT # A A ged el & A §E Uk ek et & 6
(1) asg (¥) | & (2) asg (9m) gfear B
(3) axg (A1) T 8 (4) axg (91) 93 ©
3. Price and demand are only correlated in case of :
(1) Necessities (2) Comforts (3) Giffen goods (4) Luxuries
HHa X AR daa = Aama § geeEfaa ®
(1) sTEeFepa  (2) SAH Q) fb 9@ (4) faamd

4. Pareto's Law of Income Distribution is given by :

(1) Vill Pareto's (2) William Pareto

(3) Vilfredo Pareto (4) None of the above

R H AW FIAROT HA o SR Rar . B

(1) et & (2) fafees R

(3) ke e (4) SRFT F & FE AL
5. Income distribution curves of concentration is also known as :

(1) Equal distribution (2) Frequency distribution

(3) Lorenz curve (4) Frequency curve

HEIEHTOT N T fqawer asp 771 a0 & ff S=7 S ©

(1) 9= faaeer (2) SRERAT s

(3) 9IRS =k (4) SRR a6

94117/(B) P.T.O.



6. Who has given the Engel's Law ?

(1) Ernst Engel (2) A. Engel (3) Engel (4) E.R. Engel
Wied e feee fRam @ 7
(1) Tiee & (2) To Ul (3) €l (4) g0 TR0 TIA
7. Demand for goods having several uses, is what ?
(1) Elastic (2) Equilibrium
(3) Inelastic (4) All of the above
TEd-l eI axgAf &l d40T &1 & ?
(1) sreare (2) a1
(3) ATERY (4) SUE Al
8. The price elasticity of demand curve can range between :
(I) —Tand 1 (2) 0and o (3) Oand 1 (4) —aand o
AN @ & A @ e & di = 8 gl © ¢
() —13X 1 (2) 03R o (3) 031 4 -3 o
9. In C-chart for derivation of ¢ control limits are based on :
(1) Bernoulli distribution (2) Polson distribution
(3) Normal distribution (4) Exponential distribution
o-FFrE=oT dEreTl gl & g C-=md e ur SHreid ©
(1) ST foreeeT (2) dteEs faazer
(3) ™ s (4) =reien! fera=eT
10. As income rises, the share of income spent on food :
(1) Rises (2) Remains constant
(3) Falls (4) Remains constant at 15%
S-S A dedl, IS 9T ©E BN dwil A T ewdr o
(1) sgar 8 (2) R el 8
(3) =edr & (4) 15% R ReX & 8

94117/(B)



11. Pareto's Law of Income Distribution is given by :

(1) Vil Pareto's (2) William Pareto

(3) Vilfredo Pareto (4) None of the above

R H A faRer — e e gRT e @ § o

(1) foret B (2) s R

(3) Feper (4) IUAH H A Hg TEI

12. A function which denotes the measure of satisfaction or utility get from consumption
per unit time is known as :

(1) Engel Law (2) Demand Law
(3) Supply Function (4) Utility Function

T A Sl Hte A1 ITAINET & 391 &l &Ml 8, U IFe d9T H @ad
q U< A Hl [Hd T F JET SACTH & 7

(1) Usta it (2) feHOS ot
(3) Yfd Her (4) ST BT
13. If the price elasticity of any commodity is n, = 1 it means ?
(1) Demand is constant (2) Demand is unit elasticity
(3) Demand is elastic (4) None of these
e fopdl a&g ®l HHEA A n, =181, I B AT ¢
(1) A7 e} & (2) AT 3HE A B
(3) AT A=ER 2 (4) 579 | g TEl
14. The point where supply and demand are balanced :
(1) Product (2) Demand (3) Supply (4) Equilibrium
(1) Sr= (2) feqos (d)  (3) ofmgfd (4) qrTEEer
15. Factors that cause the supply or demand to change are called :
(1) Equilibrium (2) Shifter (3) Demand (4) Supply
19 &R & HROT YRS a1 A/ ARafkia ekl B, 3¢ Hel A o
(1) |rTaT (2) fargex (3) =T (4) omgf

94117/(B) P.T.O.



16. The amount of goods or services available is called :

(1) Supply (2) Demand
(3) Producer (4) Consumer
SUe &GS a1 qareAl & GRHCT (SHIS<) FH FHET AT o -
(1) emyf (2) =
(3) e (4) IUHRH
17. Acceptance sampling plans also refer as :
(1) Process control (2) Product control
(3) Quality control (4) None of the above
gt Al de e | aied 2 o
(1) wifspar =T (2) I FEAO
(3) IeTeraT T (4) SUAH H | HIg TS

18. Sampling inspection plans LTPD means :
(1) Lot proportion defective (2) Lot tolerance defective

(3) Lot tolerance proportion defective  (4) Lot tolerance percent defective

gferera Herer Jis=me LTPD &1 a1ef 2

(1) S&T Srge ATyt (2) sigd Wfesgar Ayt
(3) d&d AW AU TYel (4) Iga afewyar gfaera reget
19. Which technique was used majority in 1930 to 1940 for incoming or receiving
inspection plan ?
(1) SpPC (2) Histogram
(3) C-chart (4) Acceptance sampling

A el (ST a7 91 A & fg FeTer IS 0 ST (1930 | 1940)
T o TR dobriich T STEERIST AN &1 haT =T °?

(1) THoUjo"HIo (2) eI
(3) C-=ie (4) TPl A==
94117/(B)



20. Acceptance sampling can be used as :
(1) Incoming inspection activity
(2) Outgoing inspection activity
(3) Both incoming and outgoing inspection activity
(4) Neither of them
T T B SN FgER B6ar ST aear 8
(1) STRTiHeR =reieror fehamehatrq
(2) R eror fohrenaTg
(3) ST @ FRTHT @ e TRy

(4) ITH 9 g TE
21. Which of these is not used in sampling ?
(1) 0% Inspection (2) Acceptance Sampling
(3) 100% Inspection (4) 5% Inspection
8 9 Theerr SUarT uik=aes # 787 foear Sar © 7
(1) 0% frdreror (2) wiepicl wfc=ra=
(3) 100% = ieror 4) 5% TrireroT

22. When is the 100% inspection done in sampling ?
(1) The component is extremely critical (2) The component is normal

(3) Component is moderately critical ~ (4) None of these

i § 100% 08197 e fohar SIar 8 7

(1) =<k TET ATS[h &l (2) e GHE=T 8l
(3) "< LAl A & 4) 78§ Hg T2
23. What type of causes can be controlled in SQC ?
(1) Assignable causes (2) Chance causes
(3) Pattern causes (4) All of the above
SQCH & WX & HRON hl MR fRar S |@ehar & °
(1) ™ad e (2) HHEEAT HROT
(3) JiCH HILeT (4) IUU<H Al

94117/(B) P.T.O.



24. Which of these is not used for a lot quality inspection purposes ?

(1) EWMA control chart (2) CUSUM chart

(3) Shewart control chart (4) Acceptance sampling plan

8 ¥ fpEd SuT Tga ot AET # et & e 7@ fear smar @ 7

(1) g s=g Tq T o1 = (2) YA =

(3) e FErer = (4) e A== Fistn
25. A good lot can be rejected through the use of acceptance sampling.

(1) True (2) False

(3) Neither of them (4) Can not say

Wi Afe=ET & TN a7 A @9 STEhd [har ST &bl o |

(1) a4 (2) A

(3) T # | FE e 4) wE T THY

26. Double sampling plan is given by :

(1) R. Dodge (2) H. C. Romig

(3) Dodge and Romig (4) None of these
e Ufqel™ T fhes &Ry fean T @ 7

(1) AR =S (2) THo Hlo AT
(3) SfoT uwd AT (4) 371 | Hig T

27. In general equation of UCL of a control chart for X chart, which of these is used as the

estimator of 1 ?

Freisor =d % UCL & 9 9eieeel &, X =@¢ & fou =1 & & p &
uedey & @9 ¥ 9T fhar Siar ® 7

) X )
3) x 4)
94117/(B)
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28. Process capability generally uses in ........... .
(1) Specifications (2) Control limits

(3) Process standard deviation (4) Mean of any one sample

(1) fEse (2) =T | o
(3) wichar A fasre | (4) Fpelt u wfqest & mrex A
29. What type of chart will be used to plot the number of defective in the output of any
process ?
(1) X bar chart (2) R—chart
(3) C-chart (4) p-chart

fFe 9 &% =C @ IGANT Rl 1wk & e J Sfeyel demr sifend
w1 & fog fopar s ¢

(1) X &% = (2) R—=Ie
(3) C=d (4) p-=e
30. In C-chart and p-chart what type of data is used ?
(1) Quantitative (2) Attribute
(3) Continuous (4) None of these
C-ame 3} p-are # fFe 9hIX &1 Tel IuANT 61 e & 7
(1) A=THS (2) Tasrear
(3) AT (4) 58 | H2 TE
31. Presence of trends in control chart depicts the :
(1) Process is control (2) Presence of assignable causes
(3) Presence of chance causes (4) None
fr=or = # gt & SuRyfa & s =@ 2 o
(1) gfepar =T & 2 (2) fEid et @ Juikefa
(3) HHEAT RO Bl IR (4) ®Is &1

94117/(B) P.T.O.



32. Which of these is not necessary to find the process capability ?

(1) Mean (2) Standard Deviation

(3) Spread (4) Design of Experiments

T 9§ HF-A1 ARERAT &HAT H AT B B [T TETE: F& o 7
(1) =17 (2) "k =T

(3) et (4) TR B BERE

33. Control chart for variables is :

(1) X and R chart (2) C—chart
(3) np chart (4) None
T B o = = §

(1) X 3IX R = (2) C-=ie
(3) np =< (4) =g el

34. Technique of SQC work in form of :
(1) Process control (2) Product control
(3) Both Process and Product control ~ (4) None of these
SQC & & Tk e &9 (WiH) H 8Kl & 7
(1) 989 o (Afpar F==ror) (2) drsde Hod (I FEE)
(3) wiskan AR I FET S w9 H (4) gH A Hig e

35. Control limits are used in :

(1) Inspection plan (2) Control chart
(3) Tolerance (4) All of the above
FE=oT FHET B IUGRT fRET ST @

(1) ™deter Qo= J (2) =T = e ®
(3) AfewIa (4) STH T

94117/(B)



36. Moving the UCL and LCL line for from the centre line means ........... .
(1) Decrease the possibility of type I error
(2) Increase the possibility of type II error
(3) Increase the possibility of type I error
(4) Decrease the possibility of type II error
UCL efiX LCL €39 &l STFl 9o T deX dsd 9, %l gad9 & -
(1) 1 bR i< & fooa § doean HHl
(2) II 9= i & foaug § doedn gis
(3) I 9pR I & faua d F9adr gis
(4) II 9pR i & oo o Feear HHl

37. Decreasing sample size will be ...................
(1) Decrease the slope of OC curve
(2) Increase the slope of OC curve
(3) Makes OC curve have zero slope
(4) None of the above
gl gAT THAT AIET ..oeennn |
(1) OC &k #hl A HH HAM
(2) OC T & A TG
(3) OC @b [ SA STEM
(4) IUh H F FHE T

38. If an assignable cause is expected in the process, then subgroup taken subsequently
should have a maximum difference.

(1) True (2) False

(3) Both True and False (4) Neither of them

gfe ufskar § o ald ®Rer emferd B, a1 9| d SUEHE & SAfuead IR
AT =Ry |

(1) a= (2) ITEH

(3) T R Ta Al (4) ITH | HIE AL

94117/(B) P.T.O.
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39. A single measurable quality characteristic such as dimension, weight is called .........
(1) Variable (2) Attribute
(3) Mean and variability (4) Both variable and Attribute
Th Wehdl A &1 &I IOEdl Hl [&ORIwar S 6 A=W, g9 &l Hel Sl

(1) =X (2) Tasrear

(3) #T™ X = (4) I X faQuar a=t
40. X chartisa ...

(1) Attribute control chart (2) Variable control chart

(3) Fall in both type (4) Neither of the above

X A€ R TH .. |

(1) ufiege g = (2) aRTee g =

(3) =l ¥pX § FrEe (4) SUERT H A B A AR

41. Process is in control if :
(1) Assignable causes is presence
(2) The mean is shifted
(3) One point is out of control

(4) Operating with chance causes of variation only

giekar fE=or #§ ' 3fR

(1) s1fwsa wror SulRafa 2 (2) AT TWHIART 8 =T 2

(3) U f&ig FEsoT | Y 8 (4) =TT & STgEY qHal & | gere
42. Technique of S.Q.C. work in form of :

(1) Product control (2) Process and product control

(3) Process control (4) Using control chart only

S.Q.C. &l Te=ileh F=fRgd e &9 § ¥ il © °

(1) Scare =T (2) ufkaT IR I e

(3) ufskar =T (4) Fad FEFAT A BT ITART

94117/(B)



43.

44,

45.

46.

In control chart limit used :

(1) Specification (2) Tolerance limit

(3) 3 - control limit (4) None of the above
=T =d | ggerd o

(1) fafersean (2) FeAALMA sl drET
(3) 3-fr=ror (4) STAEH H F FHE el
The concept of control chart is given by :

(1) W. B. Dodge (2) W. Shewhart

(3) W. A. Shewhart (4) H. D. Dodge
=T = @ SraERen fHEe SR A T B 7

(1) =go dlo BT (2) s=go AT

(3) e=go To e (4) THo o B

If both the demand and supply increases the equilibrium quantity :

(1) Decreases and the price rises

(2) Increases and the effect on price in indeterminate

(3) Decreases and the effect on price in indeterminate

(4) Increases and the price falls

SR AFT R AR S § gha Bl 8 aF dgad /e § FREe -
(1) = AR HHT 98 SRl 8

(2) g x == @ § FHa X aa 9T

(3) FH AR AT FHIA H HHT X I94E

(4) gfe BNl & AR HFa FX s

A surplus occurs when the price is :

(1) Equal to the equilibrium price (2) Greater than the equilibrium price
(3) Less than the equilibrium price (4) None of the above

T HATUAT T BT & AT HHAT ...l Bl 2 |

(1) arE 9o & dXE (2) TH HET F AR

(3) Thg I o A (4) S T q FIT L

94117/(B)
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47. Suppose people buy more of good 1 when the price of good 2 falls. These goods are :
(1) Substitutes (2) Inferior
(3) Normal (4) Complements

A dioe S aR] (FEE) 2 @ dEa PR 8, arT axg (aEE) 1St
Tgied €19 99 € -

(1) gfcreama— (2) =
3) gE™ (4) agh

48. The law of demand states that demand curves :
(1) Shift leftward whenever the price rises
(2) Shift rightward whenever the price rises
(3) Slope down
(4) Slope up
AT BT Dhedl 2 % as :
(1) ST <t HT Fodl 8, a9 918 37X 3% 8 8
(2) ST 1 HHAT el & df &8 AR R SRl ©

(3) == Fehell B
(4) ST FHA B
49. Normally a demand curve will have the shape :
(1) Horizontal (2) Vertical
(3) Downward sloping (4) Upward sloping
SMHAR U UH HET b T SR SR -
(1) &ferst (2) et
(3) SALgEr Twal (4) ST FH AR @@l

50. Price of a product falls by 10% and its demand rises by 30%. The elasticity of demand :

UF IAE H HAT H 10% H FH Bl & N IFH 76T 7 30% T g e
2| O6T HI S 8RN

(1) 10% (2) 30% 3) 3 4) 173
94117/(B)



1. Pareto's Law of Income Distribution is given by :

(1) Vil Pareto's (2) William Pareto

(3) Vilfredo Pareto (4) None of the above

R & AW fodwer — FeH e 8w @ = g o

(1) ot e (2) fafer=™ W2

3) e e (4) STAH o A B TEA

2. A function which denotes the measure of satisfaction or utility get from consumption
per unit time is known as :

(1) Engel Law (2) Demand Law
(3) Supply Function (4) Utility Function

TH Had S Egfte I ITAINEAT &SI I T 8, U ge §9T H @ud
g U A Bl R w9 H ST S 8 7

(1) Totet o (2) feHUs ot

(3) Yfd Her (4) IUAMTET B
3. If the price elasticity of any commodity is n, = 1 it means ?

(1) Demand is constant (2) Demand is unit elasticity

(3) Demand is elastic (4) None of these

gie fopdl @& l HIFEA A n, = 18I, Al B A -

(1) °f1 Rex 2 (2) HFT 3R o B

(3) |FT A=ER & (4) =7° | =g &
4. The point where supply and demand are balanced :

(1) Product (2) Demand

(3) Supply (4) Equilibrium

(1) S (2) feHes (HMm)

(3) SATgfe (4) Fr=gTaE

94117/(C) P.T.O.



5. Factors that cause the supply or demand to change are called :

(1) Equilibrium (2) Shifter (3) Demand (4) Supply
RS @t & @®ReT ARt a1 AT aRafid ekt 8, S el S ©
(1) qrra=er (2) farFex (3) | (4) SrgfT

6. The amount of goods or services available is called :

(1) Supply (2) Demand (3) Producer (4) Consumer

ST FERJAT A1 FarSAT & IRACT (ITHGE<) B FHaT ST &

(1) eyt (2) | (3) frmfar (4) IR
7. Acceptance sampling plans also refer as :

(1) Process control (2) Product control

(3) Quality control (4) None of the above

pfa afcraae dor 9 8 wfaa B

(1) sfspar forE=roT (2) S =T

(3) eTerT T (4) IUAH H A Hg TEI

8. Sampling inspection plans LTPD means :
(1) Lot proportion defective (2) Lot tolerance defective

(3) Lot tolerance proportion defective  (4) Lot tolerance percent defective

gferera fHerer Jis=me LTPD &1 a1ef 2

(1) 8T g arget (2) Sgd e[ arsget
(3) SIgd WiESTAT STu arvygel (4) 95a AT Afasa arage

9. Which technique was used majority in 1930 to 1940 for incoming or receiving
inspection plan ?

(1) SPC (2) Histogram (3) C-chart (4) Acceptance sampling

AN el (SR a1 9T B3 & g FRerer IS B ST (1930 | 1940)
Tk § P9 Tl T SATYHIT AN & fpar =7 ?

(1) Tqodiodlo  (2) EEm™ (3) C-=me (4) €l af=E=
94117/(C)



10. Acceptance sampling can be used as :
(1) Incoming inspection activity
(2) Outgoing inspection activity
(3) Both incoming and outgoing inspection activity
(4) Neither of them
WHIA T & ST F=IgER fRar S dehar @
(1) AmTiHes Fierer fhamehey
(2) FrTEr e feparene
(3) AN & FRTET @l e PharenarT

(4) TH | @I 7l
11. Which of these is not used in sampling ?
(1) 0% Inspection (2) Acceptance Sampling
(3) 100% Inspection (4) 5% Inspection
T4 A FREer SURT gfoems | 787 e S g 7
(1) 0% frdreroT (2) wiepicl wfcr=ra=
(3) 100% friteror 4) 5% Trieon

12. When is the 100% inspection done in sampling ?
(1) The component is extremely critical (2) The component is normal

(3) Component is moderately critical ~ (4) None of these

i § 100% 08197 e fohar SIar 8 7

(1) geh AT A9 Bl (2) e 9T Bl

(3) "< LAl A® & (4) 78 & g 7Ll
13. What type of causes can be controlled in SQC ?

(1) Assignable causes (2) Chance causes

(3) Pattern causes (4) All of the above

SQCH fpT WehIX & HION 1 M FaT 1 Tehal & °
(1) aa &er (2) §9@EeT &1 (3) UiH T hieT (4) U<k 99l

94117/(C) P.T.O.



14. Which of these is not used for a lot quality inspection purposes ?

(1) EWMA control chart (2) CUSUM chart

(3) Shewart control chart (4) Acceptance sampling plan

8 ¥ fpEd SuT Tga ot AET # et & e 7@ fear smar @ 7

(1) g s=g Tq T fHor = (2) YA =

(3) e FErer = (4) e A== Fistn
15. A good lot can be rejected through the use of acceptance sampling.

(1) True (2) False

(3) Neither of them (4) Can not say

Wi Afe=ET & TN a7 A @9 STEhd [har ST &bl o |

(1) a4 (2) A

(3) T # | FE e 4) wE T THY

16. Double sampling plan is given by :

(1) R. Dodge (2) H. C. Romig

(3) Dodge and Romig (4) None of these
e Ufqel™ T fhes &Ry fean T @ 7

(1) AR =S (2) THo Hlo AT
(3) SfoT uwd AT (4) 371 | Hig T

17. In general equation of UCL of a control chart for X chart, which of these is used as the

estimator of 1 ?

freisor =d % UCL & 9 9eieeel &, X =@ & fou =1 & 6 p &
uedey & @9 ¥ 9T fhar Siar ® 7

) X )
3) x 4)
94117/(C)
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18. Process capability generally uses in ........... .
(1) Specifications (2) Control limits
(3) Process standard deviation (4) Mean of any one sample

ORRAT &THAT A TR Bl © e |

(1) fafeEsm o (2) =T g |
(3) ufshar AME o= § (4) fpel s ufdgest & wrex #
19. What type of chart will be used to plot the number of defective in the output of any
process ?
(1) X bar chart (2) R—chart
(3) C-chart (4) p-chart

fFd TR & = &1 IUANT el ol ufshar & el § Ffeyel d@emn sifed
HX & e foar s ?

(1) X 9 =re (2) R—=e
(3) C=d (4) p-=e
20. In C-chart and p-chart what type of data is used ?
(1) Quantitative (2) Attribute
(3) Continuous (4) None of these
C-ae 3} p-are # fpd 9ehIX &1 STer IuANT 61 e & 7
(1) HA=THS (2) faLiean
3) FRax (4) 78 & B T2
21. Presence of trends in control chart depicts the :
(1) Process is control (2) Presence of assignable causes
(3) Presence of chance causes (4) None
frz=or = # gkt & SuRefa @ s =@ 2 o
(1) fepan =T & 2 (2) fEiE et @ Jufkefa
(3) HHTEAT HON B IARART (4) =g TE

94117/(C) P.T.O.



22. Which of these is not necessary to find the process capability ?

(1) Mean (2) Standard Deviation
(3) Spread (4) Design of Experiments
TTH § HA-AT AERAT & B AT wA & [ Easds 78 © 7
(1) #1em (2) 9 fereeT
(3) ST (4) TAT B wAE
23. Control chart for variables is :
(1) X and R chart (2) C—chart (3) np chart (4) None
=R & e FEEer = e @ o
(1) X 3 R = (2) C-=e (3) np =T (4) S L

24. Technique of SQC work in form of :
(1) Process control
(2) Product control
(3) Both Process and Product control
(4) None of these
SQC & &l bl fha &I (HH) H Bl 8 7
(1) S g (dfze =)
(2) disaFe g (I =0T
(3) ufkar AR I FEAY aF w9 H
(4) =7H | g &

25. Control limits are used in :

(1) Inspection plan (2) Control chart
(3) Tolerance (4) All of the above
=T | T @1 ITIRT R S @

(1) Freror o 5§ (2) =T = |
(3) GrEsIrar (4) SURIh @l

94117/(C)



26. Moving the UCL and LCL line for from the centre line means ........... .
(1) Decrease the possibility of type I error
(2) Increase the possibility of type II error
(3) Increase the possibility of type I error
(4) Decrease the possibility of type II error
UCL efiX LCL €39 &l STFl 9o T deX dsd 9, %l gad9 & -
(1) 1 bR i< & fooa § doean HHl
(2) II 9= i & foaug § dHean gis
(3) I 9pR I & faua d F9adr gis
(4) II 9pR i & oo o Feear HHl

27. Decreasing sample size will be ...................
(1) Decrease the slope of OC curve
(2) Increase the slope of OC curve
(3) Makes OC curve have zero slope
(4) None of the above
gl gAT THAT AIET ..oeennn |
(1) OC g% 3 & HH BT
(2) OC T & A TG
(3) OC @b [ SA STEM
(4) IUh H F FHE T

28. If an assignable cause is expected in the process, then subgroup taken subsequently
should have a maximum difference.

(1) True (2) False

(3) Both True and False (4) Neither of them

gfe ufskar § o ald ®Rer emferd B, a1 9| d SUEHE & SAfuead IR
AT =Ry |

(1) a= (2) ITEH

(3) T R Ta Al (4) ITH | HIE AL

94117/(C) P.T.O.



29. A single measurable quality characteristic such as dimension, weight is called .........
(1) Variable (2) Attribute
(3) Mean and variability (4) Both variable and Attribute
Th Wehdl A &1 &I IOEdl Hl [&ORIwar S 6 A=W, g9 &l Hel Sl

(1) =X (2) Tasrear

(3) #T™ X = (4) I X faQuar a=t
30. X chartisa ...

(1) Attribute control chart (2) Variable control chart

(3) Fall in both type (4) Neither of the above

X A€ R TH .. |

(1) ufiege g = (2) ARTee g =

(3) =l ¥pX § FrEe (4) SUERT H A B A AR

31. Process is in control if :
(1) Assignable causes is presence
(2) The mean is shifted
(3) One point is out of control

(4) Operating with chance causes of variation only

giekar fE=or #§ ' 3fR

(1) s1fwsa wror SulRafa 2 (2) AT TWHIART 8 =T 2

(3) U f&ig FEsoT | Y 8 (4) =TT & STgEY qHal & | gere
32. Technique of S.Q.C. work in form of :

(1) Product control (2) Process and product control

(3) Process control (4) Using control chart only

S.Q.C. &l Te=ileh F=fRgd e &9 § ¥ il © °

(1) Scare =T (2) ufkaT IR I e

(3) ufskar =T (4) Fad FEFAT A BT ITART

94117/(C)



33. In control chart limit used :
(1) Specification (2) Tolerance limit (3) 3 - control limit (4) None of the above
=T ard § ouge |
(1) fafsrsear (2) Tefiear & G
(3) 3-Fr==ror e (4) IUUP H | Mg e

34. The concept of control chart is given by :
(1) W.B.Dodge (2) W. Shewhart (3) W. A. Shewhart (4) H. D. Dodge
=T =rd @ sraerRen e SR A T B 7
(1) S=go o B (2) S=go aT
(3) =go TWo & (4) THo Elo I

35. If both the demand and supply increases the equilibrium quantity :
(1) Decreases and the price rises
(2) Increases and the effect on price in indeterminate
(3) Decreases and the effect on price in indeterminate
(4) Increases and the price falls
SR AR AR AYRT =9 J g Bl & a1 dgad /e § fREe
(1) & I FHHT F¢ Sl &
(2) gfe AR ANRET Fa J HHT I 99
(3) FH AR AMRET Fd H HHT I T
(4) gfe & ® X Fma fR S 8

36. A surplus occurs when the price is :

(1) Equal to the equilibrium price (2) Greater than the equilibrium price
(3) Less than the equilibrium price (4) None of the above

T AU qE BT 8 S BT ...l Bl 2 |

(1) Gr=reRe 9e9 @& S (2) 9T HHET A AT

(3) Thg I o A (4) ST T q FIT L

94117/(C) P.T.O.
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37.

38.

39.

40.

Suppose people buy more of good 1 when the price of good 2 falls. These goods are :
(1) Substitutes (2) Inferior (3) Normal (4) Complements

A dioe S as] (FEE) 2 @ dEa PR 8, arT axg (aEe) 1SR
giEd €19 99 ¢ -

(1) yfereemg= 2) == 3) EHE= (4) 999

The law of demand states that demand curves :

(1) Shift leftward whenever the price rises

(2) Shift rightward whenever the price rises

(3) Slope down

(4) Slope up

AT 1 HA Fedl & 6 T -

(1) ST <1 &Hd el 8, 99 a8 AR RFe Bl 8
(2) ST 1 HAT el & df &8 AR R SRl ©

(3) = gl B

(4) S Fhell 8

Normally a demand curve will have the shape :

(1) Horizontal (2) Vertical

(3) Downward sloping (4) Upward sloping
SAFAR 9X TH AT a6 1 SAHR BT

(1) &ferst (2) FefeR

(3) ALAET Tl (4) S FH AR TwEl

Price of a product falls by 10% and its demand rises by 30%. The elasticity of demand :

UF IR H HAT H 10% H FH Bl & N IFH AT T 30% T g e
2| O6T HI S 8RN

(1) 10% (2) 30%
33 (4) 173

94117/(C)



41.

42,

43.

44,

45.

If elasticity of demand is very low then its shows that the commodity is :
(1) A necessity (2) A luxury

(3) Has little importance in total budget (4) Both (1) & (3)

gfe |07 & A 9gd e 8, O 98 9iar @ 6 ag]

(1) I SAELIFAT & (2) T B

(3) H/A I H Hew™ oASl-Al © @) (1) Ta (3) a=t

When Gross elasticity of demand is a large the number one can conclude that :

(1) The good is normal (2) The good is inferior

(3) The good is substitute (4) The good is a complement

STE JRT # Ao A ged el & A §E Uk ek et & 6
(1) a&g (99) amr= & (2) axy (9) gfear 2

(3) g% (A1) TEE— 4) a&g () 93 2

Price and demand are only correlated in case of :

(1) Necessities (2) Comforts (3) Giffen goods (4) Luxuries
HHT 3R AW Faa 9 AvA § qeeEEd o

(1) sTEgFepa  (2) ARH Q) e 7@ (4) famw

Pareto's Law of Income Distribution is given by :

(1) Vill Pareto's (2) William Pareto

(3) Vilfredo Pareto (4) None of the above

R B AW IR A = SR R B

(1) foe R (2) FafEm R

3) faaher WA @) ST # § B T2
Income distribution curves of concentration is also known as :

(1) Equal distribution (2) Frequency distribution
(3) Lorenz curve (4) Frequency curve
HAIHT H A Ao a6 M1 &9 F off S AR @
(1) A faaer (2) IARERAT e

(3) SRS Ok (4) SRERAT ok

94117/(C)
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46. Who has given the Engel's Law ?

(1) Ernst Engel (2) A. Engel (3) Engel (4) E. R. Engel
Wied e feee fRam @ 7
(1) Tiee & (2) To Ul (3) €l (4) g0 TR0 TIA
47. Demand for goods having several uses, is what ?
(1) Elastic (2) Equilibrium
(3) Inelastic (4) All of the above
Jga-dl FFEIRT a&gali & J6T FM & 7
(1) stearee (2) EqgeTT
(3) AT (4) ST AT
48. The price elasticity of demand curve can range between :
(1) —Tand 1 (2) 0and o (3) Oand 1 (4) —aand o
AT I%6 I HET @ T & e 81 dehdl ©
() —137% 1 (2) 03T a (3) 0¥ 1 4) — a3 o
49. In C-chart for derivation of ¢ control limits are based on :
(1) Bernoulli distribution (2) Polson distribution
(3) Normal distribution (4) Exponential distribution
o-FFrE=oT dEreTl gl & g C-=md e ur SHreid ©
(1) ST e (2) diera faaeen
(3) 9™ deA (4) =it faaer
50. As income rises, the share of income spent on food :
(1) Rises (2) Remains constant
(3) Falls (4) Remains constant at 15%
S-S ™ dedl, A5 9X ©E o dkil A & feEdr o
(1) srgam @ (2) Rex & @
(3) = & (4) 15% 94X R & @

94117/(C)



1. Which of these is not used in sampling ?

(1) 0% Inspection (2) Acceptance Sampling
(3) 100% Inspection (4) 5% Inspection

T § R ST ufd=ed § 787 fear S © 7

(1) 0% t=rderen (2) wiepicl wfc=ra=

(3) 100% Triteror 4) 5% e

2. When is the 100% inspection done in sampling ?
(1) The component is extremely critical (2) The component is normal

(3) Component is moderately critical ~ (4) None of these

i # 100% 8197 e fohar Sar 8 7

(1) =2k TET ATS[h &l (2) gek AHERT &1
(3) ek Al g B 4) 7§ FiE T
3. What type of causes can be controlled in SQC ?
(1) Assignable causes (2) Chance causes
(3) Pattern causes (4) All of the above
SQCH frd WehR & RNl @l [ frar o gear 8 ?
(1) Fraa e (2) HHAEAT BT
(3) T I (4) ST |

4. Which of these is not used for a lot quality inspection purposes ?

(1) EWMA control chart (2) CUSUM chart

(3) Shewart control chart (4) Acceptance sampling plan

TH O FREer SUART Sgd Atk JEn F FREer & e 787 A S @ 7
(1) g == ud U =T 9 (2) FHgA =e

(3) @ FIHAT AE (4) Epia gfc==a= Arstn

94117/(D) P.T.O.



5. A good lot can be rejected through the use of acceptance sampling.

(1) True (2) False

(3) Neither of them (4) Can not say

i afc=a & TANT & | @9 3G AT ST Hehdl © |
(1) 9= (2) ITEH

(3) &4 # | HE TEA (4) e TEl qhd

6. Double sampling plan is given by :

(1) R. Dodge (2) H. C. Romig

(3) Dodge and Romig (4) None of these
SR IS IR S S I S C- AR E B | B

(1) 3TRo B+ (2) o Hio AT
(3) SfoT uwd AT (4) 371 | Hig Tl

7. In general equation of UCL of a control chart for X chart, which of these is used as the

estimator of W ?

Fror = & UCL & 9 el &, X = & fou =1 @ fd p &
uRedey & ©9 § yArT fRar S g

(1) X 2)
3) x 4)

=

8. Process capability generally uses in ........... .
(1) Specifications (2) Control limits

(3) Process standard deviation (4) Mean of any one sample

(1) fafEs= # (2) =T 9| H°

(3) ufshar AME o= § (4) fpel us ufdgest & wrex #®
94117/(D)



9. What type of chart will be used to plot the number of defective in the output of any

process ?
(1) X bar chart (2) R—chart
(3) C-chart (4) p-chart

fFe 9 &% =C @ I9ANT Rl 1 ik & e J Sfeyel demr sifnd
w1 & fog fepar s ¢

(1) X «% = (2) R—=e
(3) C-=rré (4) p-=mé
10. In C-chart and p-chart what type of data is used ?
(1) Quantitative (2) Attribute
(3) Continuous (4) None of these
C-are 3} p-are # e 9ehIX &1 STer IuANT 61 Sem & 7
(1) A=THH (2) farsreer
(3) Fax (4) 379 | =g T
11. Presence of trends in control chart depicts the :
(1) Process is control (2) Presence of assignable causes
(3) Presence of chance causes (4) None
fr=or = | ugiaal @ SuRefa @ i @ e o
(1) "fsean Fser & 2 (2) M9 HRET IR
(3) EHEHAT HRO I IR (4) g &
12. Which of these is not necessary to find the process capability ?
(1) Mean (2) Standard Deviation
(3) Spread (4) Design of Experiments
TTH q HA-AT FGRAT & B AT 3 & [0 AETF: 78T © 7
(1) #1em (2) 9 fermeT
(3) A= (4) TN 1 waEn
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13. Control chart for variables is :

(1) X and R chart (2) C—chart
(3) np chart (4) None
=R & e e = e @ o

(1) X 31X R = (2) C-=ie
(3) np = (4) g

14. Technique of SQC work in form of :
(1) Process control (2) Product control
(3) Both Process and Product control ~ (4) None of these
SQC =™ & Thieh fhd =9 (wH) & 8l g ?
(1) 9rE9 Fgra (afepar =) (2) disaFe g (I =0T
(3) "tk SR Jare FE=T & ®Y H(4) 58 | HiE el

15. Control limits are used in :
(1) Inspection plan (2) Control chart (3) Tolerance (4) All of the above
=T |1 1 I9ART R ST B
(1) Freror o 8§ (2) =T = |
(3) Hfewar (4) IYAU<H G4l

16. Moving the UCL and LCL line for from the centre line means ........... .
(1) Decrease the possibility of type I error
(2) Increase the possibility of type II error
(3) Increase the possibility of type I error
(4) Decrease the possibility of type II error
UCL &fiX LCL @39 &I SRl SoM T deX dzd 9, %l Jadd & -
(1) I 9 i & faug § dHear w1
(2) II 9= i & faug § dHean gis
(3) I 9 & & [aug d FHadn gis
(4) II 9pR & & fao" o FHear Al
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17. Decreasing sample size will be ...................
(1) Decrease the slope of OC curve (2) Increase the slope of OC curve
(3) Makes OC curve have zero slope (4) None of the above
g&Aar g3 AT 91857 ..ol |
(1) OC T & A FH BT (2) OC T & A FSTEIM
(3) OC @k ST SAN I (4) IUUH H | HIS TEl

18. If an assignable cause is expected in the process, then subgroup taken subsequently
should have a maximum difference.

(I) True (2) False
(3) Both True and False (4) Neither of them
gfe ufkar § uw ER wrer smfed g, a1 9. d SuEHe & SAfuemaH 3R
ST =R |
(1) &= (2) TEH
(3) I SR STa Al (4) TH q =g &l
19. A single measurable quality characteristic such as dimension, weight is called .........
(1) Variable (2) Attribute
(3) Mean and variability (4) Both variable and Attribute

Th Wehdl A &1 &l IOTEdl Hi [&ORIwar S 6 A=W, a9 &l Hel Sl o

(1) =% (2) fesreran

(3) 7T X o= (4) I X faQuar a=t
20. X chartisa ...

(1) Attribute control chart (2) Variable control chart

(3) Fall in both type (4) Neither of the above

X @ B Th .. |

(1) ofi=ge sl =re (2) AIRTIT FHEr AT

3) aFt v H frmEe (4) U | HIE A qEA
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21. Process is in control if :
(1) Assignable causes is presence
(2) The mean is shifted
(3) One point is out of control
(4) Operating with chance causes of variation only
ufsear FE=er & B afy -
(1) AT HROT IIRATT 2
(2) d1e9 TR 8 T4 8
(3) us feig FE=or | aEx &
(4) T9H=TaT & STaEX HIHEC & AT g

22. Technique of S.Q.C. work in form of :
(1) Product control
(2) Process and product control
(3) Process control

(4) Using control chart only

S.Q.C. & qpip FrAfRad fpd &9 & %M &l & 7
(1) SarE =T

(2) gfspar AR I AT

(3) Afepar =T

(4) daa FE=FET AE FHOIYIRT

23. In control chart limit used :

(1) Specification (2) Tolerance limit

(3) 3 - control limit (4) None of the above
FrEser =e | gged 9

(1) fafersear (2) weAsfiear & dm
(3) 3-Fr=ror Hm (4) SRH 7 | FHE Tl
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24. The concept of control chart is given by :

(1) W. B. Dodge (2) W. Shewhart
(3) W. A. Shewhart (4) H. D. Dodge
=T = #l HaERen fREe ST A 6 g 7

(1) s=go o Bl (2) 3=go Age
(3) T=Fo Uo e (4) T=o o B

25. If both the demand and supply increases the equilibrium quantity :
(1) Decreases and the price rises
(2) Increases and the effect on price in indeterminate
(3) Decreases and the effect on price in indeterminate
(4) Increases and the price falls
SR AT R AR S § gha Bl 8 aF dgad /e § FREe -
(1) & 3IX FHHd F¢ Sl &
(2) g x == @ § FHa X a9
(3) FHH AR AMRET Fa J HHT X T
(4) gfag erft ® R PHma FR Sl 8

26. A surplus occurs when the price is :

(1) Equal to the equilibrium price (2) Greater than the equilibrium price
(3) Less than the equilibrium price (4) None of the above

s AT 9 BT & S HIEA ... 2l B

(1) arEE o & SR (2) THT HET F AR

(3) g T T HH (4) IIH H q HE AL

27. Suppose people buy more of good 1 when the price of good 2 falls. These goods are :
(1) Substitutes (2) Inferior (3) Normal (4) Complements
9 A S99 a)] (AEE) 2 @ wEg fRa B, an agg (ame) 1 sIfEs
giEd 21 3 9M T € -
(1) wfereenma= (2) =1 (3) A== (4) I9ITH
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28. The law of demand states that demand curves :
(1) Shift leftward whenever the price rises
(2) Shift rightward whenever the price rises
(3) Slope down
(4) Slope up
AT 1 HA FedT & 6 T :
(1) ST & $HT Fedl 8, a9 918 e faFe e 8
(2) ST 1 HAT ol & df &8 AR R SRl ©

(3) == Fehell B
(4) T FHA &
29. Normally a demand curve will have the shape :
(1) Horizontal (2) Vertical
(3) Downward sloping (4) Upward sloping
SAFAIR 9X TH ANT a9F 1 SAHR ST
(1) aferst (2) HeATET
(3) AUET Tl (4) S FH A TwEr

30. Price of a product falls by 10% and its demand rises by 30%. The elasticity of demand :

UF IR H HAT H 10% H FH B & N IFH 7T T 30% T g e
2| °6T HI & 8RN

(1) 10% 2) 30% 3) 3 @) 173

31. If elasticity of demand is very low then its shows that the commodity is :
(1) A necessity (2) A luxury
(3) Has little importance in total budget (4) Both (1) & (3)
gfe |07 @ A= 9gd e 8, O 98 S9iar © 5 aw]
(1) 0 STELTHe (2) =T B
(3) A oI H Ao AT © 4 (1) Td (3) &
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32. When Gross elasticity of demand is a large the number one can conclude that :

(1) The good is normal (2) The good is inferior
(3) The good is substitute (4) The good is a complement
STE AT H Ghd A geq Bkl & A Gl Uk MRy el & 6
(1) asg (91) amr = & (2) axg (v@) gfear &
(3) a&g (A1) TEE= 4) a&g () 93 2
33. Price and demand are only correlated in case of :
(1) Necessities (2) Comforts (3) Giffen goods (4) Luxuries
HHT AR AR g = Amd J qeeEia © o
(1) sTEeFepa  (2) ARH Q) e 7@ (4) famw

34. Pareto's Law of Income Distribution is given by :

(1) Vill Pareto's (2) William Pareto

(3) Vilfredo Pareto (4) None of the above

PRI N AW FIAROT HA 1 SR Rar . B

(1) foe R (2) FafEm R

3) faaher WA @) ST # § FE T2
35. Income distribution curves of concentration is also known as :

(1) Equal distribution (2) Frequency distribution

(3) Lorenz curve (4) Frequency curve

FHAIHT H A e a6 71 &9 FH off S A @

(1) ga= faayer (2) SRERAT e

(3) SRS @sh (4) IRERAT 936

36. Who has given the Engel's Law ?

(1) Ernst Engel (2) A. Engel (3) Engel (4) E. R. Engel
G H e Rar @ ?
() T i (2) Qo Ui (3) dae (4) Fo TR0 WA
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37. Demand for goods having several uses, is what ?

(1) Elastic (2) Equilibrium (3) Inelastic (4) All of the above

Iga-dl FFEIRT a&gali & J6T FM & 7

(1) I (2) g (3) STITET (4) SUNFRT Tt
38. The price elasticity of demand curve can range between :

(1) —Tand 1 (2) 0and o (3) 0Oand 1 (4) —aand o

AW a6 I BT @ T B G B dehel ©

() —137% 1 (2) 03T a (3) 0¥ 1 4) — a3 o
39. In C-chart for derivation of 6 control limits are based on :

(1) Bernoulli distribution (2) Polson distribution

(3) Normal distribution (4) Exponential distribution

o-FFrE=oT dEreTl gl & g C-=md e ux SHreid ©

(1) ST foreeeT (2) dteEs faazer

(3) AM= S (4) =il aaer
40. As income rises, the share of income spent on food :

(1) Rises (2) Remains constant

(3) Falls (4) Remains constant at 15%

S-S A dedl, A5 9T ©E BN dwil A T ewdr o

(1) sgar 8 (2) R &l 8

(3) Hear 2 (4) 15% X ReR T&ar @

41. Pareto's Law of Income Distribution is given by :

(1) Vil Pareto's (2) William Pareto

(3) Vilfredo Pareto (4) None of the above

R H AT faaxer — Faw e g e @ ©

(1) foret B (2) s R

3) faehsr R 4) ST § | P AL

94117/(D)
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42. A function which denotes the measure of satisfaction or utility get from consumption
per unit time is known as :

(1) Engel Law (2) Demand Law
(3) Supply Function (4) Utility Function

TH Had S Egfte I SYAINEAT & SU™ I T 8, Ui ge §9T Hl @ud
g U A H R w9 F ST S 8 7

(1) it ot (2) fems ot
(3) Yfd Her (4) IUATET B
43. If the price elasticity of any commodity is n, = 1 it means ?
(1) Demand is constant (2) Demand is unit elasticity
(3) Demand is elastic (4) None of these
e fopdl @& l HIFEA A n, = 18I, Al B A -
(1) =T e B (2) | ghE &= B
(3) AT A=ER & 4) 579 | Hig T
44. The point where supply and demand are balanced :
(1) Product (2) Demand (3) Supply (4) Equilibrium
(1) = (2) femmos (|rT)  (3) eMmgfed (4) FrTEEer
45. Factors that cause the supply or demand to change are called :
(1) Equilibrium (2) Shifter (3) Demand (4) Supply
59 el & @HROT SR a1 |67 aRkafia et 8, S &l Sl ¢
(1) Sz (2) X (3) HT (4) oTyfer

46. The amount of goods or services available is called :

(1) Supply (2) Demand (3) Producer (4) Consumer
SUe &GS a1 qaredl & GRHCT (SHIS<) FH FHET AT o -
(1) amgfet (2) 90T (3) frafar (4) IIHI

94117/(D) P.T.O.
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47. Acceptance sampling plans also refer as :

(1) Process control (2) Product control

(3) Quality control (4) None of the above
gt Afc=a Ao e | aiea @ o

(1) sfspar forE=roT (2) 3= =T

(3) eI FEE©T (4) SH # q FE TS

48. Sampling inspection plans LTPD means :
(1) Lot proportion defective (2) Lot tolerance defective

(3) Lot tolerance proportion defective  (4) Lot tolerance percent defective

gferera= Frderor Jisme LTPD a1 a7ef 2

(1) 9ge ergamer drogef (2) FgT AT arget
(3) dgd AewEr AT arvyget (4) dgd Fiewdr i Sayel
49. Which technique was used majority in 1930 to 1940 for incoming or receiving
inspection plan ?
(1) SPC (2) Histogram (3) C-chart (4) Acceptance sampling

A Al (ST a1 O & & [ MereT AIs=r @0 93T (1930 & 1940)
ds H R doeeiieh o1 STRIRIST Al &1 foRar /=m ?

(1) THoUlo"Hlo  (2) BEmm™ (3) C-=mre (4) EEpia gic=r=a=

50. Acceptance sampling can be used as :

(1) Incoming inspection activity
(2) Outgoing inspection activity
(3) Both incoming and outgoing inspection activity
(4) Neither of them
WHIA T & ST F=IgER Rar S dehar @
(1) AmTiHes FiereT fhamehety
(2) FrTEr e feparene
(3) ST g e 41 FraeTor haresarg
(4) ITH 4§ g TE
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